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SECTION A – (10 × 2 = 20 marks)

Answer any TEN questions

1. Raj Ltd issued 1,20,000 Preference shares of `10 each. The whole issue was underwritten by Velan for maximum commission permitted by law. Applications for 1,00,000 shares were received in all. Determine the net liability of Velan.   
2. Define Underwriting.
3. X Limited forfeited 100 equity shares of face value of `10 each, for non-payment of final call of `2 per share. The forfeited shares were subsequently reissued @ `7 each as fully paid. Give necessary entries in company’s Journal. 
4. Redemption of 20,000 preference shares of `100 each was carried out by utilisation of reserves and by issue of 8,000 Equity shares of `100 each at `125. How much should be credited to CRR Account.
5. What is profit prior to incorporation?
6. G Ltd., was incorporated on 1st May 2016 to purchase the running business of Vani and Co., with effect from 1st January 2016.
         Calculate the time ratio, if the accounts were finalised on 31st December 2016. 
7. What is amortisation?
8. What are tangible assets?
9. The Goodwill is to be valued at two years’ purchase of last four years average profit. The profits were `40,000, `32,000, `15,000 and `13,000 respectively. Find out the value of  goodwill.

10. Raj Co. Ltd. has equity share capital as given below:


30,000 Equity shares of `10 each fully paid up:
` 3,00,000



10,000 Equity shares of 10 each, `8 paid up: 
`    80,000



Net assets available to Equity shareholders 

` 4,80,000


        Determine the value of both the shares under net assets method.
11. A company whose capital consists of 5,000 shares of `100, `75 called and paid, decide to reduce the shares into 5,000 shares of `75 each fully paid. Pass Journal Entry.
12. What is internal reconstruction?
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. State the conditions for issue of shares at discount.
14. Vishvam  Ltd., 1,50,000 equity shares. The whole of the issue was underwritten as follows:
X – 50%;
Y – 25% and  

Z - 25%
Application for the 1,20,000 shares were received in all, out of which applications for 30,000 shares had the stamp of X, those for 15,000 shares that of Y and those for 30,000 shares that of Z. The remaining applications for 45,000 shares did not bear any stamp.
Determine the liability of the underwriters.
15. State the conditions for redemption of preference shares.
16. ABC Co. Ltd. had part of its share capital in 2000 preference shares of `10 each fully paid up and these have become due for redemption. The preference share capital was to be redeemed out of a fresh issue of equity shares at par made particularly for this purpose and the general reserve of the company stood at `25,000. Show the journal entries for the above transactions. 
17. A company was incorporated on 1.6.2010 in order to purchase a running business from 1.1.2010. 
The following particulars are available from its records:
	
	        `

	Total sales for 2010
Sales from 1.1.2010 to 31.5.2010
Gross profit for the whole year
Total expenses of 2010 (including directors fees ` 1,000)
Company’s share capital
	80,000
20,000
30,000
25,000
75,000


Find out profit prior to incorporation and after incorporation by preparing profit and loss account. 
18. Give the format of statement of profit or loss as per revised schedule.
19.  Sugas and Co. decided to purchase  a business for `2,40,000. Its profits for the last four years were 2009 `60,000; 2010 `75,000; 2011 `72,000 and 2012 `69000. The owner of the business was personally managing it. A manager to replace him has to be paid `9,000 p.a. 
Calculate the value goodwill if it is valued on the basis of three years’ purchase of the average net profit for the last four years.  
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions 
20. Saraswathi Ltd. having an authorised capital of `20,00,000 in shares of `100 each invited applications for 10,000 shares payable as follows:

On Application   `30 
On Allotment 
 `20

On First Call
`25

On Final Call
`25

The company received applications for 12,000 shares. Applications for 10,000 shares were accepted in full and the money on 2000 applications rejected was returned.

All money due as stated above was received with the exception of the final call of 250 shares. Half of these shares were forfeited and re-issued as fully paid at `90 per share. Pass necessary journal entries.

21.  Mars  Co. Ltd., is a company with an authorised  capital `5,00,000 divided into 5,000 equity shares of      `100 each on 31.12.2015 of which 2,500 shares were fully called up. The following are the balances extracted from the ledger as on 31.12.2015.
	Debit balances 
	`
	Credit balances
	`

	Opening stock

Purchases

Wages

Discount

Insurance (upto 31.3.2016)

Salaries 

Rent

General expenses

Printing

Advertisements

Bonus

Debtors

Plant

Furniture

Bank

Bad debts

Call-in-arrears
	50,000

2,00,000

70,000

4,200

6,720

18,500

6,000

8,950

2,400

3,800

10,500

38,700

1,80,500

17,100

34,700

3,200

5,000
	Sales

Discount 

Profit and loss A/c

Creditors

Reserves 

Loan from M.D

Share capital 
	3,25,000

3,150

6,220

32,200

25,000

15,700

2,50,000

	
	6,60,270
	
	6,60,270


You are required to prepare statement of Profit and Loss for the year ended 31.12.2015 and a balance sheet as on that date. The following further information is given:

a) Closing stock was valued at `1,91,500.

b) Depreciation on plant at 15% and on furniture at 10% should be provided.

c) A tax provision of Rs. 8,000 is considered necessary.

d) The directors declared an interim dividend on 15.8.2015 for 6 months ending June 30, 2015 @6%.

e) Provide for corporate dividend tax @ 17%.
22. The following is the balance sheet of Raj Ltd as on 31st Dec. 2008:

The market value of 60% of the assets is estimated to be 15% more than the book value and that of the remaining 40% at 10% less than the book value. There is an unrecorded liability of `10,000. 
Find the value of each equity share.
23. The following is the balance sheet of Worst Ltd on 31.3.2012
	Liabilities 
	` 
	Assets 
	`

	20,000 equity shares of  Rs. each 
	2,00,000
	Patents 
	40,000

	500 10% pref. shares of Rs. 100 each 
	50,000
	Buildings 
	2,00,000

	8% Debentures 
	1,00,000
	Machinery 
	1,30,000

	Creditors 
	3,30,000
	Stock 
	80,000

	Outstanding expenses 
	20,000
	Debtors 
	55,000

	
	
	Profit and loss A/c
	1,95,000

	
	7,00,000
	
	7,00,000


      With a view to reconstruct the company, it is proposed:

a) To reduce equity share paid up amount by `9 each. 

b) To reduce 10% preference shares by `40 each

c) To reduce 8% debentures by 10%

d) To reduce trade creditors claim by one third

e) To reduce machinery by `60,000

f) To reduce inventory by `0,000

g) To provide `15,000 for bad debts

h) To write off all the intangible assets

           Pass journal entries to give effect to the above scheme and show the company’s balance sheet after reconstruction. 

———————
Liabilities �
`�
Assets �
`�
�
4,000 10% Pref. shares of Rs. 100 each �
4,00,000�
Sundry assets at book value �
12,00,000�
�
60,000 Equity shares of Rs. 10 each �
6,00,000�
�
�
�
Bills payable �
50,000�
�
�
�
Creditors �
1,50,000�
�
�
�
�
12,00,000�
�
12,00,000�
�
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